EARAZROREIERT — 2 N—XBISY —F 20155128128 (£) 17E11A&E5H

m C2—9# C2 ¥#5%3m®L EREE R
[AE4£] 1% :130,000 ™ ~ 23#&:30,000”  33%&:12,000 M  43%&:7,000H ~ 53 :4,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
iE[mE 2 1:31. 1-1-1-1 . - 1 478 | REM (EH)
10111 71)x0O 3 54.0 (3_)6 .6 <+28; %gﬁ— -
RixrvAqO— B:HT7HIY33aF =Rl L%5
S 3 | AXTH 1:31.6 3-3-3-2 [39.2| — 7 472 | THERE (EH)
o[ | 5-n2 Sk o o |Emmn =
R ZZXA< R B3 EdHhITT— L
s saAs OLLFn . —g-8- _ 57 (5%
3 6larsrgg - 4 8 %53_0* 1.(332).2 8-8-8-6 | 39.1 4 (4;1) ;ggg (1£8)
L:A—JNh7x B:TURyTIL XH =z
S ® FIAFIK : —6-6- — =HEE (E8)
4 o| KTy K H 3 ks 1(/73%:)2 6-6-6-3 | 39.5 5 :3:)23; o
R:TA—T4FAF—ZH> BAIHFLIS5v— BKT 7 —L
e #H o4 | BERN 1:32.5 5-5-4-5 | 40.1| — 6 477 | KIEER (1E8)
5|55 | YZHZX 56.0 (11/2) (-5) | BEE—
RLi—ibA7Oo— B:iAroz—* B2y N
S h e il 1:33.1 4-4-5-4 |40.7| — 452 | BE—K (£H8)
6l7|7|VF>I¥E— 3 8% 5 M ’ (i) FUkE
AL T7AT7 B:UXLT 1=K Al Al
— = .33 77~ . - HHE (1£%)
7lglg|FrTa®a7HY 3 e 1(/?3;; 7-7-7-8 | 40.4 8 (5_063) S =
L:FA—TZANA B:TFAILTUFaT 2= FHE
N o [Ty : -0 — AR®YE (BR)
8 4| 721 T i 3 PRt S (11.313/.24) 2-2-2-7 | 41.2 2 (4:; s
L:HYIRG4 752 B:h14OA—X KEHS

® 1 —F—@EBIBfL

1 2=7r= 1,4,3,7,5,2,8,6

2al=3r= 1,4,3,7,5,2,8,6

J=zr= 1,4,3,5,7,2,8,6

Adx=zr= 1,3,2,7,5,6,4,8

o LRE

BB 1 150 | | 71 K 1-3 1,020H 5= 1-3 2,980M 3EE 1-3-6 7,820M

7 B 1 120M 1-6 240 BB 1-3 2,900MH HEH 1-3-6 26,600
3 360M 3-6 2,750M
6 240H

ABICOVWTRDTEEERROODE. TR LIV,



